Welcome to





BRIGHTKEY.ZONE ALL IN ONE ONLINE SHOPPING HUB

ALL IN ONE ONLINE SHOPPING HUB DIGITAL + HEALTH REVOLUTION

EMS HEAT TRANSFER

TECHNOLOGY Benefits: Daily 10 min. Used

NTURALLY CURE & CONTROL

- **SUGAR**
- BP
- THYROID
- **SCIATICA**
- **CERVICAL**

- **BACK PAIN**
- SHOULDER PAIN
- **VARICOSE VAINS**
- **PARALYSIS**







2 Pieces

OUR PACKAGE PRODUCT CODE: D10 QUANTITY: 2 Piece + 2 Piece = 4 Pieces ID ACTIVATION Price: 1599/-

ALL IN ONE ONLINE SHOPPING HUB DIGITAL + HEALTH REVOLUTION

EMS HEAT TRANSFER

TECHNOLOGY Benefits: Daily 10 min. Used

NTURALLY CURE & CONTROL

- **SUGAR**
- BP
- **THYROID**
- **SCIATICA**
- **CERVICAL**

- **BACK PAIN**
- **SHOULDER PAIN**
- **VARICOSE VAINS**
- **PARALYSIS**







Pieces

OUR PACKAGE PRODUCT CODE: D09 QUANTITY: 5 Pieces+5 Pieces = 10 Pieces

ID ACTIVATION Price: 6495/- 50% DISCOUNT: Rs. 3247/- Only

TYPES OF INCOME



- Direct Income
- Refral Level Income
- ROI Bonus Income Daily 1% Upto 100 Days
- Frachaise Income
- Bonus Gifts



DIRECT INCOME



EACH PRODUCT SALE DIRECT 30% INCOME



you can add unlimited direct members and refer and earn unlimited DIRECT INCOME & REFERRAL INCOME

BUSINESS ASSOCIATES DIRECT INCOME CHART

S.No.	Product Cost	SALE	%	Direct Income	BONUS GIFTS
1	3000	1	30%	900	00
2	15000	5	30%	4500	00
3	30000	10	30%	9000	2 WATCHES M/F
4	60000	20	30%	18000	32" TV
5	900000	30	30%	27000	32" TV + WOOFER
6	120000	40	30%	36000	10% Extra
7	150000	50	30%	45000	15% Extra

BUSINESS ASSOCIATES REFERAL LEVEL INCOME CHART



S.No.	No.of Sales	%	Referal Income	
1	5 x 5 = 25	20%	15000	
2	10 x 5 = 50	20%	30000	
3	20 x 5 = 100	20%	45000	
4	30 x 5 = 150	20%	60000	
5	40 x 5 = 200	20%	75000	
6	50 x 5 = 250	20%	90000	

BUSINESS ASSOCIATES R.O.I. INCOME CHART



S.No.	No.of Sales	TOTAL COST	Daily ROI Income Daily 1%	UPTO 100 DAYS	TOTAL
1	5 x 5 = 25	75000	750/-	100	75000
2	10 x 5 = 50	1,50,000	1500/-	100	1,50,000
3	20 x 5 = 100	1,22,500	2250/-	100	1,22,500
4	30 x 5 = 150	3,00,000	3000/-	100	3,00,000
5	40 x 5 = 200	3,75,000	3750/-	100	3,75,000
6	50 x 5 = 250	4,50,000	4500/-	100	4,50,000

TOTAL SALES BONUS REFUND TWO BUSINESS ASSOCIATES DAILY 1% UPTO 100 DAYS

TERMS & CONDITIONS



- 1) Buy a Product for ID Activation.
- 2) Minimum withdraw Rs. 500/-
- 3) Maximum withdraw NO LIMIT
- 4) Daily Closing & Daily Pay Out
- 5) You can generate 1 Mobile / 1 Multiple ID's.
- 6) Deduct Admin. 15% Charges.
- 7) Product Home Delivery within 5 to 10 days after ID Activate.

LEGAL DOCUMENTS









GOVERNMENT OF INDIA MINISTRY OF CORPORATE AFFAIRS

Central Registration Centre

Certificate of Incorporation

[Pursuant to sub-section (2) of section 7 of the Companies Act, 2013 and rule 8 the Companies (Incorporation) Rules, 2014]

I hereby certify that MYDREAMS E-COMMERCE PRIVATE LIMITED (OPC) is incorporated on this Seventh day of June Two thousand sixteen under the Companies Act, 2013 and that the company is limited by shares.

The CIN of the company is U51909TG2016OPC110141.

Given under my hand at Manesar this Seventh day of June Two thousand sixteen .



ALOK TANDON

Central Registration Centre For and on behalf of the Jurisdictional Registrar of Companies

DISCLAIMER



- 1. We do not offer you Easy Money / Get Rich Quick Schemes
- 2. We offer you value for money products/service and sole aim of business is sales of the goods and services.
- 3. We are not a Ponzi scheme / Pyramid scheme / Chit Fund / Investment Company. 4. You are only buying product or services for yourself usage and there is no investment or expectation of any kind of returns from your purchase.
- 5. Just by purchasing a product or services from us does not entitle you for any income. To receive income from this business, firstly you need to become a Seller of the company by complying with necessary regulations. Your income will solely depend on the sales that you and your team generate. You need to put in the time and effort to see results.
- 6. All incomes/commissions / remunerations are on sales based. There is no salaried job / employment for Justpay Seller.
- 7. Member can earn commission only by selling our products or services. In case you are unable to sell our products or services you will not earn any income.
- 8. The company has the right to change, withdraw and modify the commission, Income, business/marketing plan and terms & condition anytime without any prior notice.
- 9. These terms shall be governed by and constructed in accordance with the laws of India without reference to conflict of laws principles and disputes arising in relation hereto shall be subject to the exclusive jurisdiction of the courts at Telangana.

MY DREAMS E-COMMERCE PRIVATE LIMITED





Thankyou Visit our Website www.brightkey.zone